

**SOME INCLUSION PROPERTIES FOR SUBCLASSES OF
P-VALENT FUNCTIONS DEFINED BY A MULTIPLIER
TRANSFORMATION**

A. O. MOSTAFA AND M.K.AOUF

ABSTRACT. Using the principle of subordination, we obtain some inclusion properties of subclasses of p-valent functions defined by multiplier transformation. Also inclusion properties of classes involving the generalized Libera integral operator are obtained.

2000 *Mathematics Subject Classification*: 30C45.

1. INTRODUCTION

Let $A(p)$ denote the class of functions of the form:

$$f(z) = z^p + \sum_{k=p+1}^{\infty} a_k z^k \quad (p \in N = \{1, 2, \dots\}), \quad (1)$$

which are analytic and p-valent in the unit open disc $U = \{z : |z| < 1\}$. If f and g are analytic functions in U , we say that f is subordinate to g , written $f \prec g$ if there exists a Schwarz function w , which (by definition) is analytic in U with $w(0) = 0$ and $|w(z)| < 1$ for all $z \in U$, such that $f(z) = g(w(z))$, $z \in U$. Furthermore, if the function g is univalent in U , then we have the following equivalence (see [14], [15] and [3]):

$$f(z) \prec g(z) \Leftrightarrow f(0) = g(0) \text{ and } f(U) \subset g(U).$$

For two functions f given by (1) and $g(z) = z^p + \sum_{k=p+1}^{\infty} b_k z^k$, the Hadamard product (or convolution) is given by

$$(f * g)(z) = z^p + \sum_{k=p+1}^{\infty} a_k b_k z^k = (g * f)(z).$$

For any real number σ , Kumar and Taneja [11] defined the multiplier transformations $I_{p,\lambda}^\sigma$ of functions $f \in A(p)$ by:

$$I_{p,\lambda}^\sigma f(z) = z^p + \sum_{k=p+1}^{\infty} \left(\frac{k+\lambda}{p+\lambda} \right)^\sigma a_k z^k \quad (\lambda \geq 0). \quad (2)$$

Obviously, we observe that

$$I_{p,\lambda}^s(I_{p,\lambda}^t f(z)) = I_{p,\lambda}^{s+t} f(z),$$

Specializing the parameters λ, σ and p , we obtain the following special operators:

- i) $I_{p,0}^\sigma f(z) \equiv D_p^\sigma f(z)$ ($\sigma \in N_0 = N \cup \{0\}, p \in N$, see [1] and [16]);
- ii) $I_{1,0}^\sigma f(z) = D^\sigma f(z)$ ($\sigma \in N_0$, see [20]);
- iii) $I_{1,\lambda}^\sigma f(z) = I(\sigma, \lambda)$ (the multiplier transformation see [4], [5] and [8]);
- iv) $I_{1,1}^\sigma$ (see[22]);
- v) $I_{1,\lambda}^{-1}$ (see [18]);
- vi) $I_{1,1}^\sigma$ (σ is any negative real number, see [2] and [10]).

For $0 \leq \eta < p, p \in N$, we denote by $S_p^*(\eta), K_p(\eta)$ and C_p , the subclasses of $A(p)$ consisting of p -valent analytic functions which are, respectively, p -valent starlike of order η , p -valent convex of order η and p -valent close-to-convex functions in U (see [17], [19] and [21]).

Let S be the class of functions ϕ which are analytic and univalent in U and for which $\phi(U)$ is convex with $\phi(0) = 1$ and $\text{Re}\{\phi(z)\} > 0, z \in U$.

Making use of the principle of subordination between analytic functions, we introduce the subclasses $S_p^*(\eta; \phi), K_p(\eta; \phi)$ and $C_p(\eta, \gamma; \phi, \psi)$ of the class $A(p)$, $0 \leq \eta, \gamma < p$ ($p \in N$) and $\phi, \psi \in S$, which are defined by:

$$S_p^*(\eta; \phi) = \left\{ f \in A(p) : \frac{1}{p-\eta} \left(\frac{zf'(z)}{f(z)} - \eta \right) \prec \phi(z), \quad z \in U \right\};$$

$$K_p(\eta; \phi) = \left\{ f \in A(p) : \frac{1}{p-\eta} \left(1 + \frac{zf''(z)}{f'(z)} - \eta \right) \prec \phi(z), \quad z \in U \right\}$$

and

$$C_p(\eta, \gamma; \phi, \psi) = \left\{ f \in A(p) : \exists g \in S_p^*(\eta; \phi) \text{ s.t. } \frac{1}{p-\gamma} \left(\frac{zf'(z)}{g(z)} - \gamma \right) \prec \psi(z), \quad z \in U \right\}.$$

From these definitions, we can obtain some well-known subclasses of $A(p)$ by special choices of the functions ϕ and ψ . For example, we have

$$S_p^* \left(\eta; \frac{1+z}{1-z} \right) = S_p^*(\eta), \quad K_p \left(\eta; \frac{1+z}{1-z} \right) = K_p(\eta)$$

and

$$C_p \left(0, 0; \frac{1+z}{1-z}, \frac{1+z}{1-z} \right) = C_p.$$

For real or complex numbers a, b, c other than $0, -1, -2, \dots$, the hypergeometric series is defined by

$${}_2F_1(a, b; c; z) = \sum_{k=0}^{\infty} \frac{(a)_k (b)_k}{(c)_k (1)_k} z^k, \quad (3)$$

where

$$(d)_k = \begin{cases} 1 & (k = 0; d \in C \setminus \{0\}) \\ d(d+1)\dots(d+k-1) & (k \in N; d \in C). \end{cases}$$

We note that, the series (3) converges absolutely for all $z \in U$, so that it represents an analytic function in U .

Setting

$$h_{p,\lambda}^\sigma(z) = z^p + \sum_{k=p+1}^{\infty} \left(\frac{k+\lambda}{p+\lambda} \right)^\sigma z^k \quad (\sigma \in R; \lambda \geq 0). \quad (4)$$

With the aid of the function $h_{p,\lambda}^\sigma(z)$ given by (4), we define the function $h_{p,\lambda}^{\sigma*}(z)$ in terms of the Hadamard product (or convolution) by:

$$(h_{p,\lambda}^\sigma * h_{p,\lambda}^{\sigma*})(z) = z^p {}_2F_1(a, b; c; z) = z^p + \sum_{k=p+1}^{\infty} \frac{(a)_{k-p} (b)_{k-p}}{(c)_{k-p} (1)_{k-p}} z^k \quad (z \in U).$$

This function yields the following family of linear operators $I_{p,\lambda}^\sigma(a, b; c) : A(p) \rightarrow A(p)$ which are given by:

$$\begin{aligned} I_{p,\lambda}^\sigma(a, b; c, z)f(z) &= h_{p,\lambda}^{\sigma*}(z) * f(z) \\ &= z^p + \sum_{k=p+1}^{\infty} \frac{(a)_{k-p} (b)_{k-p}}{(c)_{k-p} (1)_{k-p}} \left(\frac{p+\lambda}{k+\lambda} \right)^\sigma a_k z^k \quad (z \in U; \lambda \geq 0; \sigma \in R). \end{aligned} \quad (5)$$

Specializing the parameters a, b, c and σ , we have:

- i) $I_{p,\lambda}^0(p, 1; p)f(z) = I_{p,\lambda}^0(1, 1; 1)f(z) = f(z)$;
- ii) $I_{p,\lambda}^0(p+1, 1; p)f(z) = \frac{zf'(z)}{p}$;
- iii) $I_{p,\lambda}^0(\delta+p, 1; \delta+p+1)f(z) = F_{p,\delta}(f)(z) = \frac{\delta+p}{z^\delta} \int_0^z t^{\delta-1} f(t) dt, \delta > -p; p \in N$ (the generalized Libera operator defined by (18), see [2], [12] and [18]);
- iv) $I_{p,\lambda}^0(a, n+p; a)f(z) = D^{n+p-1}f(z) (n > -p)$ (the Ruscheweyh derivative of $th - (n+p-1)$ order, see [9]);
- v) $I_{p,\lambda}^0(p+1, 1; n+p)f(z) = I_{n+p-1}f(z) (n > -p)$ (Noor integral operator, see [13]);

vi) $I_{1,\lambda}^0(\mu, 1; \tau + 1)f(z) = I_{\mu,\tau}f(z)$ ($\tau > -1$) (Choi-Saigo-Srivastava operator, see [6]).

For simplicity, we write $I_{p,\lambda}^\sigma(a, b; c; z) = I_{p,\lambda}^\sigma(a)$.

From equation (5), it can be easily to verify that:

$$z(I_{p,\lambda}^{\sigma+1}(a)f(z))' = (p + \lambda)I_{p,\lambda}^\sigma(a)f(z) - \lambda I_{p,\lambda}^{\sigma+1}(a)f(z) \quad (6)$$

and

$$z(I_{p,\lambda}^\sigma(a)f(z))' = aI_{p,\lambda}^\sigma(a+1)f(z) - (a - p)I_{p,\lambda}^\sigma(a)f(z). \quad (7)$$

Using the operator $I_{p,\lambda}^\sigma(a)$, we introduce the following classes of p-valent analytic functions for $\phi, \psi \in S; \sigma \in R, \lambda \geq 0$ and $0 \leq \eta, \delta < p, p \in N$:

$$S_{p,\lambda}^\sigma(a; \eta; \phi) = \{f \in A(p) : I_{p,\lambda}^\sigma(a)f(z) \in S_p^*(\eta; \phi), z \in U\};$$

$$K_{p,\lambda}^\sigma(a; \eta; \phi) = \{f \in A(p) : I_{p,\lambda}^\sigma(a)f(z) \in K_p(\eta; \phi), z \in U\}$$

and

$$C_{p,\lambda}^\sigma(a; \eta, \gamma; \phi, \psi) = \{f \in A(p) : I_{p,\lambda}^\sigma(a)f(z) \in C_p(\eta, \delta; \phi, \psi), z \in U\}.$$

We note that

$$f(z) \in K_{p,\lambda}^\sigma(a; \eta; \phi) \Leftrightarrow \frac{zf'(z)}{p} \in S_{p,\lambda}^\sigma(a; \eta; \phi). \quad (8)$$

In particular, we set

$$S_{p,\lambda}^\sigma\left(a; \eta; \left(\frac{1 + Az}{1 + Bz}\right)^\alpha\right) = S_{p,\lambda}^\sigma(a; \eta; A, B; \alpha) \quad (0 < \alpha \leq 1; -1 \leq B < A \leq 1)$$

$$K_{p,\lambda}^\sigma\left(a; \eta; \left(\frac{1 + Az}{1 + Bz}\right)^\alpha\right) = K_{p,\lambda}^\sigma(a; \eta; A, B; \alpha) \quad (0 < \alpha \leq 1; -1 \leq B < A \leq 1).$$

In this paper, we obtain several inclusion properties of the classes $S_{p,\lambda}^\sigma(a; \eta; \phi)$, $K_{p,\lambda}^\sigma(a; \eta; \phi)$ and $C_{p,\lambda}^\sigma(a; \eta, \gamma; \phi, \psi)$. We also obtain some applications involving of classes of integral operators.

2. INCLUSION PROPERTIES INVOLVING THE OPERATOR $I_{p,\lambda}^\sigma(A)$

In order to prove our results, we shall make use of the following known results.

Lemma 1.[7] *Let ϕ be a convex univalent function in U with $\phi(0) = 1$ and $Re\{\beta\phi(z) + \nu\} > 0$ ($\beta, \nu \in C$). If p is analytic in U with $p(0) = 1$, then*

$$p(z) + \frac{zp'(z)}{\beta p(z) + \nu} \prec \phi(z) \quad (z \in U), \quad (9)$$

implies that

$$p(z) \prec \phi(z) \quad (z \in U).$$

Lemma 2.[15] Let ϕ be a convex univalent function in U and w be analytic in U with $\operatorname{Re}\{w(z)\} \geq 0$. If p is analytic in U and $p(0) = \phi(0)$, then

$$p(z) + w(z)zp'(z) \prec \phi(z) \quad (z \in U), \tag{10}$$

implies that

$$p(z) \prec \phi(z) \quad (z \in U).$$

Unless otherwise mentioned we shall assume that $-1 \leq B < A \leq 1; \phi, \psi \in S; \sigma \in R, \lambda \geq 0$ and $0 \leq \eta, \delta < p, p \in N$.

Theorem 1. For $f(z) \in A(p)$, we have

$$S_{p,\lambda}^\sigma(a+1; \eta; \phi) \subset S_{p,\lambda}^\sigma(a; \eta; \phi) \subset S_{p,\lambda}^{\sigma+1}(a; \eta; \phi) \quad (0 \leq \eta < p, p \in N; \phi \in S).$$

We will first of all, show that

$$S_{p,\lambda}^\sigma(a+1; \eta; \phi) \subset S_{p,\lambda}^\sigma(a; \eta; \phi).$$

Let $f \in S_{p,\lambda}^\sigma(a+1; \eta; \phi)$ and let

$$q(z) = \frac{1}{p-\eta} \left(\frac{z(I_{p,\lambda}^\sigma(a)f(z))'}{I_{p,\lambda}^\sigma(a)f(z)} - \eta \right), \tag{11}$$

where $q(z)$ is analytic in U with $q(0) = 1$. Applying (7) in (11), we have

$$a \frac{I_{p,\lambda}^\sigma(a+1)f(z)}{I_{p,\lambda}^\sigma(a)f(z)} = (p-\eta)q(z) + \eta + (a-p). \tag{12}$$

Differentiating (12) logarithmically with respect to z , we have

$$\frac{1}{p-\eta} \left(\frac{z(I_{p,\lambda}^\sigma(a+1)f(z))'}{I_{p,\lambda}^\sigma(a+1)f(z)} - \eta \right) = q(z) + \frac{zq'(z)}{(p-\eta)q(z) + \eta + (a-p)} \quad (z \in U). \tag{13}$$

Applying Lemma 1 to (13), it follows that $q \prec \phi$, that is, that, $f \in S_{p,\lambda}^\sigma(a; \eta; \phi)$.

The proof of the second part, will follow by using arguments similar to those used in the first part with $f \in S_{p,\lambda}^\sigma(a; \eta; \phi)$ and taking

$$h(z) = \frac{1}{p-\eta} \left(\frac{z(I_{p,\lambda}^{\sigma+1}(a)f(z))'}{I_{p,\lambda}^{\sigma+1}(a)f(z)} - \eta \right),$$

where h is analytic in U with $h(0) = 1$ and using (6). It follows that $h \prec \phi$ in U , which implies that $f \in S_{p,\lambda}^{\sigma+1}(a; \eta; \phi)$. This completes the proof of Theorem 1.

Theorem 2. For $f(z) \in A(p)$, we have

$$K_{p,\lambda}^{\sigma}(a+1; \eta; \phi) \subset K_{p,\lambda}^{\sigma}(a; \eta; \phi) \subset K_{p,\lambda}^{\sigma+1}(a; \eta; \phi) \quad (0 \leq \eta < p, p \in \mathbb{N}; \phi \in S).$$

Applying (8) and using Theorem 1, we have

$$\begin{aligned} f(z) \in K_{p,\lambda}^{\sigma}(a+1; \eta; \phi) &\Leftrightarrow I_{p,\lambda}^{\sigma}(a+1)f(z) \in K_p(\eta; \phi) \\ &\Leftrightarrow \frac{z(I_{p,\lambda}^{\sigma}(a+1)f(z))'}{p} \in S_p^*(\eta; \phi) \\ &\Leftrightarrow I_{p,\lambda}^{\sigma}(a+1)\left(\frac{zf'(z)}{p}\right) \in S_p^*(\eta; \phi) \\ &\Leftrightarrow \frac{zf'(z)}{p} \in S_{p,\lambda}^{\sigma}(a+1; \eta; \phi) \\ &\Rightarrow \frac{zf'(z)}{p} \in S_{p,\lambda}^{\sigma}(a; \eta; \phi) \\ &\Leftrightarrow I_{p,\lambda}^{\sigma}(a)\left(\frac{zf'(z)}{p}\right) \in S_p^*(\eta; \phi) \\ &\Leftrightarrow \frac{z(I_{p,\lambda}^{\sigma}(a)f(z))'}{p} \in S_p^*(\eta; \phi) \\ &\Leftrightarrow I_{p,\lambda}^{\sigma}(a)f(z) \in K_p(\eta; \phi) \\ &\Leftrightarrow f(z) \in K_{p,\lambda}^{\sigma}(a; \eta; \phi). \end{aligned}$$

Also

$$\begin{aligned} f(z) \in K_{p,\lambda}^{\sigma}(a; \eta; \phi) &\Leftrightarrow \frac{zf'(z)}{p} \in S_{p,\lambda}^{\sigma}(a; \eta; \phi) \\ &\Rightarrow \frac{zf'(z)}{p} \in S_{p,\lambda}^{\sigma+1}(a; \eta; \phi) \\ &\Leftrightarrow \frac{z(I_{p,\lambda}^{\sigma+1}(a)f(z))'}{p} \in S_p^*(\eta; \phi) \\ &\Leftrightarrow I_{p,\lambda}^{\sigma+1}(a)f(z) \in K_p(\eta; \phi) \\ &\Leftrightarrow f(z) \in K_{p,\lambda}^{\sigma+1}(a; \eta; \phi). \end{aligned}$$

This completes the proof of Theorem 2.

Taking

$$\phi(z) = \left(\frac{1 + Az}{1 + Bz} \right)^\alpha \quad (-1 \leq B < A \leq 1; 0 < \alpha \leq 1; z \in U)$$

in Theorem 1 and Theorem 2, we have the following corollary.

Corollary 1. For $f(z) \in A(p)$, we have

$$S_{p,\lambda}^\sigma(a+1; A, B; \phi) \subset S_{p,\lambda}^\sigma(a; A, B; \phi) \subset S_{p,\lambda}^{\sigma+1}(a; A, B; \phi)$$

and

$$K_{p,\lambda}^\sigma(a+1; A, B; \phi) \subset K_{p,\lambda}^\sigma(a; A, B; \phi) \subset K_{p,\lambda}^{\sigma+1}(a; A, B; \phi).$$

Now, using Lemma 2, we obtain similar inclusion relations for the class $C_{p,\lambda}^\sigma(a; \eta, \gamma; \phi, \psi)$.

Theorem 3. For $f(z) \in A(p)$, $a \geq p$, $p \in N$, we have

$$C_{p,\lambda}^\sigma(a+1; \eta, \gamma; \phi, \psi) \subset C_{p,\lambda}^\sigma(a; \eta, \gamma; \phi, \psi) \subset C_{p,\lambda}^{\sigma+1}(a; \eta, \gamma; \phi, \psi),$$

$$(0 \leq \eta, \gamma < p, p \in N; \phi, \psi \in S).$$

First, we will prove that

$$C_{p,\lambda}^\sigma(a+1; \eta, \gamma; \phi, \psi) \subset C_{p,\lambda}^\sigma(a; \eta, \gamma; \phi, \psi).$$

Let $f \in C_{p,\lambda}^\sigma(a+1; \eta, \gamma; \phi, \psi)$. Then, from the definition of the class $C_{p,\lambda}^\sigma(a+1; \eta, \gamma; \phi, \psi)$, there exist a function $g \in S_{p,\lambda}^\sigma(a+1; \eta; \phi)$ such that

$$\frac{1}{p-\gamma} \left(\frac{z(I_{p,\lambda}^\sigma(a+1)f(z))'}{I_{p,\lambda}^\sigma(a+1)g(z)} - \gamma \right) \prec \psi(z).$$

Now, let

$$q(z) = \frac{1}{p-\gamma} \left(\frac{z(I_{p,\lambda}^\sigma(a)f(z))'}{I_{p,\lambda}^\sigma(a)g(z)} - \gamma \right), \quad (14)$$

where $q(z)$ is analytic in U with $q(0) = 1$. Applying (7) in (14), we have

$$[(p-\gamma)q(z) + \gamma]I_{p,\lambda}^\sigma(a)g(z) + (a-p)I_{p,\lambda}^\sigma(a)f(z) = aI_{p,\lambda}^\sigma(a+1)f(z). \quad (15)$$

Differentiating (15) with respect to z and multiplying by z , we have

$$\begin{aligned} [(p-\gamma)q(z) + \gamma]z(I_{p,\lambda}^\sigma(a)g(z))' + (p-\gamma)zq'(z)I_{p,\lambda}^\sigma(a)g(z) + (a-p)z(I_{p,\lambda}^\sigma(a)f(z))' \\ = az(I_{p,\lambda}^\sigma(a+1)f(z))'. \end{aligned} \quad (16)$$

Since $g \in S_{p,\lambda}^\sigma(a+1; \eta; \phi)$, then by Theorem 1, we have $g \in S_{p,\lambda}^\sigma(a; \eta; \phi)$. Let

$$h(z) = \frac{1}{p-\eta} \left(\frac{z(I_{p,\lambda}^\sigma(a)g(z))'}{I_{p,\lambda}^\sigma(a)g(z)} - \eta \right).$$

Applying (7) again, we have

$$a \frac{I_{p,\lambda}^\sigma(a+1)g(z)}{I_{p,\lambda}^\sigma(a)g(z)} = (p-\eta)h(z) + \eta + (a-p). \quad (17)$$

From (16) and (17), we have

$$\frac{1}{p-\gamma} \left(\frac{z(I_{p,\lambda}^\sigma(a+1)f(z))'}{I_{p,\lambda}^\sigma(a+1)g(z)} - \gamma \right) = q(z) + \frac{zq'(z)}{(p-\eta)h(z) + \eta + (a-p)}.$$

Since $a \geq p, p \in N$ and $h \prec \phi$ in U , then

$$Re\{(p-\eta)h(z) + \eta + (a-p)\} > 0 \quad (z \in U).$$

Hence applying Lemma 2, we can show that $p \prec \psi$, that is, that $f \in C_{p,\lambda}^\sigma(a; \eta, \gamma; \phi, \psi)$. The second part can be proved by using similar arguments and using (6). This completes the proof of Theorem 3.

3. INCLUSION PROPERTIES INVOLVING THE INTEGRAL OPERATOR $F_{p,\delta}$

Now, we consider the generalized Libera integral operator $F_{p,\delta}$ (see [2], [12] and [18]), defined by

$$\begin{aligned} F_{p,\delta}(f)(z) &= \frac{\delta+p}{z^\delta} \int_0^z t^{\delta-1} f(t) dt \\ &= z^p + \sum_{k=p+1}^{\infty} \frac{\delta+p}{\delta+k} a_k z^k \quad (\delta > -p). \end{aligned} \quad (18)$$

From (18), we have

$$z (I_{p,\lambda}^\sigma(a)F_{p,\delta}(f)(z))' = (\delta+p)I_{p,\lambda}^\sigma(a)f(z) - \delta I_{p,\lambda}^\sigma(a)F_{p,\delta}(f)(z). \quad (19)$$

Theorem 4. Let $\delta > -p$. If $f \in S_{p,\lambda}^\sigma(a; \eta; \phi)$, then $F_{p,\delta}(f)(z) \in S_{p,\lambda}^\sigma(a; \eta; \phi)$.

Let $f \in S_{p,\lambda}^\sigma(a; \eta; \phi)$ and put

$$q(z) = \frac{1}{p-\eta} \left(\frac{z \left(I_{p,\lambda}^\sigma(a) F_{p,\delta}(f)(z) \right)'}{I_{p,\lambda}^\sigma(a) F_{p,\delta}(f)(z)} - \eta \right), \quad (20)$$

where q is analytic in U with $q(0) = 1$. then, by using (19) and (20), we have

$$(\delta + p) \frac{I_{p,\lambda}^\sigma(a) f(z)}{I_{p,\lambda}^\sigma(a) F_{p,\delta}(f)(z)} = (p - \eta)q(z) + (\eta + \delta). \quad (21)$$

Differentiating (21) logarithmically with respect to z , we have

$$q(z) + \frac{zq'(z)}{(p - \eta)q(z) + (\eta + \delta)} = \frac{1}{p - \eta} \left(\frac{z \left(I_{p,\lambda}^\sigma(a) f(z) \right)'}{I_{p,\lambda}^\sigma(a) f(z)} - \eta \right).$$

Applying Lemma 1, we conclude that $p \prec \phi (z \in U)$, which implies that $F_{p,\delta}(f)(z) \in S_{p,\lambda}^\sigma(a; \eta; \phi)$. This completes the proof of Theorem 4.

Theorem 5. Let $\delta > -p, p \in N$. If $f \in K_{p,\lambda}^\sigma(a; \eta; \phi)$, then $F_{p,\delta}(f)(z) \in K_{p,\lambda}^\sigma(a; \eta; \phi)$.

Applying Theorem 4 and (8), we have

$$\begin{aligned} f(z) \in K_{p,\lambda}^\sigma(a; \eta; \phi) &\Leftrightarrow \frac{zf'(z)}{p} \in S_{p,\lambda}^\sigma(a; \eta; \phi) \\ &\Rightarrow F_{p,\delta}\left(\frac{zf'}{p}\right)(z) \in S_{p,\lambda}^\sigma(a; \eta; \phi) \\ &\Leftrightarrow \frac{z}{p} (F_{p,\delta}(f)(z))' \in S_{p,\lambda}^\sigma(a; \eta; \phi) \\ &\Leftrightarrow F_{p,\delta}(f)(z) \in K_{p,\lambda}^\sigma(a; \eta; \phi). \end{aligned}$$

This completes the proof of Theorem 5.

From Theorem 4 and Theorem 5, we have the following corollary.

Corollary 2. Let $\delta > -p, p \in N$. If $f \in S_{p,\lambda}^\sigma(a; A, B; \phi)$ (or $K_{p,\lambda}^\sigma(a; A, B; \phi)$), then $F_{p,\delta}(f) \in S_{p,\lambda}^\sigma(a; A, B; \phi)$ (or $K_{p,\lambda}^\sigma(a; A, B; \phi)$).

Theorem 6. Let $\delta > -p, p \in N$. If $f \in C_{p,\lambda}^\sigma(a; \eta, \gamma; \phi, \psi)$, then $F_{p,\delta}(f)(z) \in K_{p,\lambda}^\sigma(a; \eta, \gamma; \phi, \psi)$.

Let $f \in C_{p,\lambda}^\sigma(a; \eta, \gamma; \phi, \psi)$. Then, from the definition of the class $C_{p,\lambda}^\sigma(a; \eta, \gamma; \phi, \psi)$, there exist a function $g \in S_{p,\lambda}^\sigma(a; \eta; \phi)$ such that

$$\frac{1}{p-\gamma} \left(\frac{z(I_{p,\lambda}^\sigma(a)(f)(z))'}{I_{p,\lambda}^\sigma(a)g(z)} - \gamma \right) \prec \psi(z).$$

Now, let

$$q(z) = \frac{1}{p-\gamma} \left(\frac{z(I_{p,\lambda}^\sigma(a)F_{p,\delta}(f)(z))'}{I_{p,\lambda}^\sigma(a)F_{p,\delta}(g)(z)} - \gamma \right), \quad (22)$$

where $q(z)$ is analytic in U with $q(0) = 1$. Applying (19) in (22), we have

$$[(p-\gamma)q(z) + \gamma]I_{p,\lambda}^\sigma(a)F_{p,\delta}(g)(z) + \delta I_{p,\lambda}^\sigma(a)F_{p,\delta}(f)(z) = (\delta + p)I_{p,\lambda}^\sigma(a)f(z). \quad (23)$$

Differentiating (23) with respect to z , we have

$$\begin{aligned} [(p-\gamma)q(z) + \gamma]z(I_{p,\lambda}^\sigma(a)F_{p,\delta}(g)(z))' + (p-\gamma)zq'(z)I_{p,\lambda}^\sigma(a)F_{p,\delta}(g)(z) + \delta z(I_{p,\lambda}^\sigma(a)F_{p,\delta}(f)(z))' \\ = (\delta + p)z(I_{p,\lambda}^\sigma(a)f(z))'. \end{aligned} \quad (24)$$

Since $g \in S_{p,\lambda}^\sigma(a; \eta; \phi)$, then by Theorem 4, we have $F_{p,\delta}(g)(z) \in S_{p,\lambda}^\sigma(a; \eta; \phi)$. Let

$$h(z) = \frac{1}{p-\eta} \left(\frac{z(I_{p,\lambda}^\sigma(a)F_{p,\delta}(g)(z))'}{I_{p,\lambda}^\sigma(a)F_{p,\delta}(g)(z)} - \eta \right).$$

Applying (19) again, we have

$$(\delta + p) \frac{I_{p,\lambda}^\sigma(a)g(z)}{I_{p,\lambda}^\sigma(a)F_{p,\delta}(g)(z)} = (p-\eta)h(z) + \eta + \delta. \quad (25)$$

From (24) and (25), we have

$$\frac{1}{p-\gamma} \left(\frac{z(I_{p,\lambda}^\sigma(a)f(z))'}{I_{p,\lambda}^\sigma(a)g(z)} - \gamma \right) = p(z) + \frac{zp'(z)}{(p-\eta)h(z) + \eta + \delta}.$$

The remaining part of the proof is similar to that of Theorem 5 and so we omit it.

Remark. Putting $p = 1$ in the above results, we obtain the results obtained by Cho and Kim [4].

REFERENCES

- [1] M. K. Aouf and A. O. Mostafa, *On a subclass of n - p -valent prestarlike functions*, Comput. Math. Appl., 55 (2008), 851-861.
- [2] S. D. Bernardi, *Convex and starlike univalent functions*, Trans. Amer. Math. Soc., 35 (1969), 429-446.
- [3] T. Bulboaca, *Differential Subordinations and Superordinations*, Pecten Results, House of Scientific Book Publ., Cluj-Napoca, 2005.

- [4] N. E. Cho and JI A. Kim, *Inclusion properties of certain subclasses of analytic functions defined by a multiplier transformation*, Comput. Math. Appl., 52 (2006), 323-330.
- [5] N. E. Cho and H. M. Srivastava, *Argument estimates of certain analytic functions defined by a class of multiplier transformations*, Math. Comput. Modelling, 37 (2003), no. 1-2, 39-49.
- [6] J. H. Choi, M. Saigo and H. M. Srivastava, *Some inclusion properties of a certain family of integral operators*, J. Math. Anal. Appl. 276 (2002), 432-445.
- [7] P. Eenigenburg, S. S. Miller, P. T. Mocanu and M. O. Reade, *On a Briot-Bouquet differential subordination*, General Enequalities 3, I. S. N. M., Vol. 64, Birkhäuser Verlag, Basel (1983), 339-348.
- [8] T. M. Flett, *The dual of an inequality of Hardy and Littlewood The remaining part of the proof is similar to that of Theorem 5 and so we omit it.ods and some related inequalities*, J. Math. Anal Appl., 38 (1972), 746-765.
- [9] R. M. Goel and N. S. Sohi, *A new criterion for p -valent functions*, Proc. Amer. Math. Soc., 78 (1980), 353-357.
- [10] I. B. Jung, Y. C. Kim and H. M. Srivastava, *The hardy space of analytic functions associated with certain one parameter families of integral operators*, J. Math. Anal. Appl., 176 (1993), 138-147.
- [11] S. S. Kumar and H. C. Taneja, *Classes of multivalent functions defined by Dziok-Srivastava linear operator and multiplier transformation*, Kyungpook Math. J. 46 (2006), 97-109.
- [12] R. J. Libera, *Some classes of regular univalent functions*, Proc. Amer. Math. Soc., (1965), no. 16, 755-758.
- [13] J.-L. Liu and K. I. Noor, *Some properties of Noor integral operator*, J. Nat. Geometry, 21 (2002), 81-90.
- [14] S. S. Miller and P. T. Mocanu, *Differential subordinations and univalent functions*, Michigan Math. J., 28 (1981), no. 2, 157-171.
- [15] S. S. Miller and P. T. Mocanu, *Differential Subordination : Theory and Applications*, Series on Monographs and Textbooks in Pure and Applied Mathematics, Vol. 225, Marcel Dekker Inc., New York and Basel, 2000.
- [16] H. Orhan and H. Kiziltunc, *A generalization on subfamily of p -valent functions with negative coefficients*, Appl. Math. Comput., 155 (2004), 521-530.
- [17] S. Owa, *On certain classes of p -valent functions with negative coefficients*, Simon Stevin, 59(1985), 385-402.
- [18] S. Owa and H. M. Srivastava, *Some applications of the generalized Libera integral operator*, Proc. Japan Acad. Ser. A Math. Sci., 62, (1986), 125-125.
- [19] D. A. Patel and N. K. Thakare, *On convex hulls and extreme points of p -valent starlike and convex classes with applications*, Bull. Math. Soc. Sci. Math. R. S.

Roumanie (N. S.) 27 (1983), no. 75, 145-160.

[20] G. S. Sălăgean, *Subclasses of univalent functions*, Lecture Notes in Math. (Springer-Verlag) 1013, (1983), 362 - 372 .

[21] H. M. Srivastava and S. Owa, *Current Topics in Analytic Function Theory*, World Scientific Publishing Company, Singapore, 1992.

[22] B. A. Uralegaddi and C. Somanatha, *Certain classes of univalent functions*, In: Current Topics in Analytic Function Theory, (Edited by H. M. Srivastava and S. Owa), World Scientific Publishing Company, Singapore, 1992, pp. 371-374.

A. O. Mostafa and M.K.Aouf

Department of Mathematics

Faculty of Science

Mansoura University

Mansoura 35516, Egypt.

emails: adelaeg254@yahoo.com, mkaouf127@yahoo.com